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Identify the item that is not taken into account in computing the current ratio: ‘ '

() Land (b) Bills recoverable (c)

Cash (d) Bank

@Hmémaﬁﬁaﬁ&wn@mé}mmnﬂmﬁamﬂ‘w.ﬁ '

(a) W& ®) ¥Yoien Gar s ©

an @ ¥

Which factors influence ethical behaviour in business ?

(8) Public disclosure
(¢) Inspiration from leaders

(®)
@

TR e e d faos Iy IR T ?

(a) RIS RINEIESS )
() 3= IB YgT @)

. . Which of the following is part of capital structure ?

(a) Equity Capital (b)
(c). Debt capital )
It fefgnrt &9 fomrr e e fdr d ¢

(@) feafedt yet (b)
() 3Sfae s | @
Capital budgeting can be used for the purpose of
(a) Machinery ' M)
(c) Raw materials (d

afues gaféa o yoia fen @R &t &l A Aaer &

(a) Hrtagt (®)
(© HTHS @
Dividend is the portion of _
(a) Current Assets of the company )
- (c) -Assets of the company - (d)
A fdm 3
(@) st S Ty ot = ®)
(¢ St dufte @
360 method relates to _
(a) Performance appraisal M)
(c) Employer’s morale (d)
360 fedt REaz
() YTHs WO 5 (b)
() HTH T HOES & ()

Paper-11 (Commerce) 2

Pressure from top executives
All of the above

Gudas AY '

Preference share capital
All of the above

Sudaz Ag

Goodwill
Land and Building

H‘H .
s mi3 fores

Debt

Profit

foz o
3

Organization climate
Retrenchment -

RAEY @ HO&% &8
Wétaé‘s”rm




Which is the determinant of Capltal structure ? _
(a) Govemment policy o A (b) Control

(c) Tax o o D _Requirément of investors
Lr#r@% @ﬁsamaaaz% , .

(a) FIx<T BIE | | - (b) feuissE

© & (@ femdages
Environment Protection Act iS applicable to , .

(a) Private sector enterprises - (b) Public sector enterprises
©) B@th (@and(®) (d) None of these

eI Hafor Aee sg dor d ) S
@ fotissgess @) wsAiEeiEs
© (@3 H)TR . @) fes 9 ot adt

A theory is L |

(a) Anassumption - s (b) An ‘if-then’ proposition .
{c) A hypothesis . (d) A validated hypothesis
ity s 3
(@ fEawazr oo ) fFaass-fesams
(©) ﬁ‘e’auﬁaasuar T (d) ﬁamw%auﬁamw

In drawing a farmers supply curve for-a Commodlty all but which one of the followmg are
kept constant

(a) Technology

(b) Price of inputs )

{c) Features of nature such as climate and weather
(d) The price of the commodity under consideration

%amwé%afﬁnméuﬁ%aam@an#ﬁaﬁﬁ%ﬁvﬁvamm
AT 3

(a) SAEBA i

(b) nr'a'lsférsﬁ?-,ls'?s .

(c) aeaaéwﬁﬁns@ﬁ%w»@m
(@ fEandserg a3
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11. If the income elasticity of demand is greater than 1, the commodity is

(@) A necessity ' () A luxury

(¢) Aninferior good (d) A non related good
g Ao S minEs Ex 1 3903, IFF O |

(@) féxAgss ®) f femm

() & udnim T3 _ (@) ¥ dg Adus TFg

12. If the amount of commodity purchased remains unchanged when the price of another
commodity changes, the cross elasticity of demand between them is:

(a) Negative (b) Positive (¢) Zero @ 1
mﬂ@aﬁﬁa%émmmammmémm&z
Jet 3, @Wﬁﬂ@amiﬂwﬁm%

(a foE=na (b) TE3IHA ) fred d 1

13. IfMRS,, for individual A exceed the MRSy for B, it is possnble for individual A to gain
by giving up
(a) Xinexchange of more Y from B
(b) Y in exchange for more X from B
(c¢) EitherXorY
(d) We cannot say without additional mformatlon

'ﬁaaﬁmaa‘rmséfmnsxyﬁmas?aérmnsmgéua ﬁmas’rmséﬂ‘enerfswar
FIR F'B YU II5 AST J :

(a) Ba® mftx Y ¥ 588 X (b) BEF nftm X TwEBY

© FXAY | @ =UAEEd T fwt ad afs AR
14, Consider the following types of income

1.  Personal Income 2.  Disposable Income

3.  Private Income 4. National Income

' The correct sequence in descending order of their magnitude is

(@ 42,13 (b) 4,2,3,1 ) 2,431 d 2,41,3

1. fenatars nmies 2. YIGWd nTHES

3. f&# nmies 4, THIS WHES

(@ 4,2,1,3 ®) 4,2,3,1 © 2,4,3,1 d 2,4,1,3
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15.

16.

17.

18.

The burden of a tax on monopoly profit will be:

(a) Entirely on the product

(b) Entirely on the consumer

(c) Equally distributed among the producer and the consumer

(d) More on the consumer than the producer

Barfuarg &3 €3 a9 v 379 J_dr :

(@) udt 39 eny ‘3

() udt 3§t Gusars ‘3

© B3uex v QuFa fegare savgg Sfsnr D
@) B3uex &% BudasT ‘3 =g

Identify the items which are not as opening expenses:

(a) Loss on sale of motor car (b} General management salaries
(c) Depreciation of office equipments (d) Advertising expenses
wet & ufgee a9 7 ggnrst uee adt U5
(@) HeT argt & feadt €3 ot (b) AU YEUS IETTT
(¢) ©&3dt A AHs o fuAree (d) Y= uI

A primary reason why nations conduct international trade is because:

(a) Some nations prefer to produce one thing while others produce other things.

(b) Resources are not equally distributed among all trading partners,

(c) Trade enhances opportunities to accumulate profits.

(d) Interest rates are not identical in all trading nations.

(a) TS IHT = TAg = B3ues a9s § Haze foe I8, e fa gAY ot sAgnr o
83ues aae 7

(b) W3 U wfowaint e AN Avrs &0 43§

© wwnﬁﬁgm%ﬁa%u@?%

(d) =uT e A e 99 fowmm Tt AHs &dt 95

Relative to Countries with low ratios of exports to GDP, Countries having high exports to
GDP ratios are vulnerable to changes in world market. -

(@ Less - (b) More (c) Equally (d)  Any of the above
fsgurst 3 GDP & ufar wigur3 @@ TRt 2 Hared 59U I GDP yges I -Hal 32 I5 |

(@ uz (®) it © PSS @) BuiEadtS
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19.

20.

21.

22.

23.

Contradiction to Hecksher-Ohlin theory is

(8 Smith Paradox - () LeontiefParadox 3
(c) Arrow’s Paradox ’ ' (d) Veblen Paradox H
Yare-Gfafes o o dss 3 | - I
(@) FE fedmem () feSsfes fedusH
(©) 3 = fegwsH @ e feduam

Let elasticity of demand for exports for a certain country be e and elasticity of demand for
imports be ey. Assume that the country devalues its currency. Its balance of payment will
certainly show an improvement if ' '

(@ e=em=1 ®) etem>1 © exfem<1‘ d) extem=1
is 58 fof 2 2 fogurst st 1l B € 3 i3 TSt B Vi 5O e I | HE BQ W
@ c=em=1 ) stem>l @ &téa<l @ eten=I
If prices rise, the direct real burden of public debt will:

(a) also increase ()] fali-

(c) remain unchanged (d) be uncertain

" 3ug dhH3t Todnit I8, AIERER faE € B WS YSTe d<dr

@ =FWr (b) wear

© mwww (@ HEfEde

For a monopolist price is 16 and marginal revenue is 4, the elasticity of demand will be
@ 4/3 ) V4 © 4 @ 14
Serfumrdt i 16 3 w3 b3 s 4 3, Vol & s 33t

@ 43 - () 4 © 4 @ 4

A perfectly competitive firm faces Profit = ¥ 4 and Total Cost = Q -7Q? +12Q + 5 where
Q is the quantity sold. The profit earned when 4 units of quantity are sold is:

@ T 10 ® Tl © 220 @ T 24
féagaayarawm?jmmw%4§uém§a_mz=_svma_q3—7qz+1zq+5 , | Q
%a‘faéfmaarm-é*ﬁngnﬁ.%ﬁnﬁﬂ*@»ﬁwszﬁ:

(@ 103w ®) 11 qug - (0 209® (d) 24§ué
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24, The short run supply curve of the perfectly competitive firm is given by:

(a) Therising pottlon of its MC curve over and above the shut-down point
(b) The nsmg portion of its MC curve over and above the break-even point
(¢) The nsmg portion of its MC curve over and above the AC curve

25,

26.

27.

(d) The rising portion of its MC curve

Y35 HEaw' TIH T suas yast dag it At 3
(@) feRet MC 3@ ¥ 302 Y o3 1z 5780 fife 3 Bue
) ferdt MC ¥ 2 Fu2 fIR w3 33 e fip 3 Gue
(© feret MC ¥ @ 02 i w3 AC ¥ ¥ Qus

@ fané‘rMcéaa-;*@m

If the demand curve for a monopolist’s commodity are identical in two separate markets
then by practising third degree price discrimination the monopolist:

(a) Will increase TR and Total profits

- (b) Can increase TR and Total profits

(c) Cannot increase TR and Total Profits

(d) Will charge a different price in different markets
mmmémme&-&mﬁam%?mm@mfe@e

BT X arfaardt |
(@ TR 3 I3 &7 eudqr )
(©) TR n3 IS &3 &It U AT )
When TP fﬂls :
(@) The AP, . iszero (b)
(©) The AP, . is negative - (d)
¥ TP ulewt )
(8 APuow fRTY )

(c) _AP.,.,O.., JEIIHA d

All the following curves are U shaped except
(a) The AVCcurve (b) The AFC curve (c)
Ist &3 A =91 U niats Ia, forg &1

(8) AVC 9 (b) AFC & ©

TR W3 &% &8 TU* Aae' 3
- FArg ¥ Fu-Sd vz BRar

The MP,, . is zero |
The AP, .. is declining

The AC curve (d)_ The MC curve

AC®WY  (d MCT9
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28.

29,

30.

31

An entrepreneur running a business takes out ¥ 20,000 year as ‘salary’ fromthe total
receipts of the firm. The implicit cost of this entrepreneur is:

(a) 20,000 year (b) More than ¥ 20, 000 year

4

- (¢) Less than ¥ 20,000 year (d) Any of the above is possible::

f¥x Goft gan dntt I ynudindt 29 20,000/~ AETST m%éﬂ‘%a’(e?% | &t
&t fsfas a3 O

(a) 20,000 T AGTE | () 20,000 FEE T FU
(¢) 20,000 FUB A& 3 ule d) Suasgs o HAsed

If MU of the last unit of X consumed is twice the MU of the last unit of Y consumed, the
consumer is in equilibrium only if

(a) The price of X is twice the price of Y

(b) The price of X is equal to the price of Y
() The price of X is half the price of Y

(d) Any of the above is possible

ﬁaaxénﬁfanﬁa@%&mﬁmeérnﬁnm%@mém% 1
Sudas Aizos I I AaT :

(8) X ot dH3 Y & a3 2 et (b) X3y etz 2 5989 I
© XTAHIY Szt (d) Sudas s & Ase adt I
Sales of fixed assets f_o foreigners is : _ '

(2) Export of goods (b) Unrequired receipts

(c) Capital receipts | (d) None of the above

fex feart § Afag Audhr S 39 3 ¢ '

(a) A w5303 | )  FEH o yYrugindt

(c) Uriars Yot | @ Budwz It &

The law of reciprocal demand is associated with

(@ Alfred Marshall | (b) J.S.Mill

(¢) David Ricardo (d) None of the above
UIAUT Ha1 T s Faaz J ¢ | :

(a) MBEIS HIRS &6 ®) AR s Es
© 3fEfasss (@) Sudas T &

~ Paper-II (Commerce) g 8 | C



32.

33.

34,

3s.

36.

37..

IMF deals with _ _

(a) Developmental finance (b) Managing balance of payment

(c¢) Free Trade ' | (d) Maintain of peace among nations
IMF feorg ager 9

(a) e AATT 33 &% (b) TS AIBE YEU FH

() FIsTaug (@) Tneet fewa At afen duT w
Budgetary deficit does not take into account: _ |
(a) Revenue deficit _ (b) Capital budget deficit

(¢) Balance of payment deficit (d) Interest payment on public debt

87 ur2 e e mrie adt der Y - |

(a) nHES W . () Yiftes s wer

(c) TIZE AISS wier (@) reReE 3 foz 3 fonm a3

Keynesians favour :

(a) Fiscalpolicy (b) Monetarypolicy (c) Credit policy  (d) Income policy
AGHME AHIEES TIT Ta: | |

(a TWERES @) Rfex At (©) AYEH @ rmEs &

‘Sensitive Sector’ as defined by Rl include :
(a) Capital market (b) Real estate (¢) Commodities (d) All of the above

RI ©nia" ysHS ‘ARTsHI® 839 % afis 3 _
@ ydtES ) wESAUF () =g @) SRazAY
Which of the following is termed as Money Multiplier
(a) Ratio of M to M, ‘ ' (b) Ratio of M, to M,
(c) Ratio of M, to M, (d) Ratioof M, to M,
Ist fofanrt 9 farg oo gea @ 39 2 sifom Arer D
(8 M,3M,T ngur3 () MF M, T rigu3
(© M, 3 M,T U3 @) M3 M, T nigys
Which of the following is the most volatile flow of foreign exchange ?
(a) Foreign direct investment (b) Extemal assistance
(c) Foreign Institutional Investors - (d) External commercial borrowings
It fefanit 19 fagar fedt T2l o Ag 3 Ju ufsegsas Yoo 3 -
@ yufeert faem ®) IS Afta
(c) Toort Argars feem (d) I uIx Gug
9 ' Paper-II (Commerce)



38.

39.

40.

41.

Which of the rate is not determined by RBI ?

(a) Bankrate (b) CRR (¢ SLR = (d PLR
frget w9 = fs9aras RBI g &4t ST A 9 R
() ¥ - (®» CRR (¢} SLR (d PLR

What is ‘Green Banking’ ?

(a) Bank financing on pro environment projects
(b) Bank financing to agriculture

(c) Bank financing to imi gation

(d) All bank ﬁnanci'ng to farmers

‘e Hfdarat 3 2 | _
(a) ﬁamaqﬁa?@ﬁs%aaaa ) YauRmtfRsfR e
) ¥afioe &t fB3 e s (@ #I By farst 8 Rz fife oo
RuPay’ is o |
(a) New Currency of RBI (b) Card Payment Network
() New name of credit cards of bank (d) Credit card to farmers
oy
(a) .RBI @ 53t A&A (b) IS FTIS 3T
(o) Fa ¥ Yfse a9s woawt oM @) fare o 3fse oo
Which of the following is not helpful in controlling money supply ?
(a) Free market policy ‘ (b) CRR :
(c) Bankrate - (d) Change in margin requirements
| ot fifonit 5 e wear & yadt § fiizes s e rofe &t 9 9
. (2) B339 IS A () CRR '
(c) ¥ T9 (@) T3 wgest B ufseTss

. 420

An empirical study on relationship between the rate of money increase and rate of

“unemployment in the economy was given by

(a) A.W. Phillips () J.M.Keynes

(¢) R.F.Kahn : (d) Ernst Engel

| nm&emﬁameﬁéean@ﬁmﬁe&mﬁaamﬁéu %feaqmmﬁ#umfu%
fzr fapr A ,

(a) 3ufsg. fafey ewrar o (b) A, F5H T

(c) na. Ve JTE PATT | (d) PESHS WVS e
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43.

45,

46.

47.

43.

In Nominal GDP is equal to real GDP, then

(@) The GDP deflator is equal to zero (b) . The GDP deflator is ecjual to one

(c) The GDP deflator is less than one (d) None of the above

A9 & GDP niAs GDP @ sawq 3, fee |

(a) GDP f3e8cg fage @ g9wg (b) GDP f3e8ed® 15989 9

(c) GDPfsedcafeazued (@ Sudaz J=t 5t

Inflationary gap measures the excess of aggregate expendiﬁne ovef thé aggfégé,te sﬁpply:
(a) Before full employment | (b) At full employment

.(c) Beyond full employment ~ (d) Both(a)and (b)

HETTREIS ni3d 3% HaT & 3% YISt 3 20 & Hy Fger 9 ¢

(a) Y35 grarg 3 ufast (b) YI5 grarg 3

(c) YIs gard 3 amE d) (a) ™3 (b) TF

In Cobb-Douglas production function the elasticity of substitution between factors

(a) Zero _ 7 . (b) Equal to one

(c) - Greater than one (d) Less than one_
TH-3aGH G3UTs e85 9, Ast feaarg yfsrens sod J

(@) free | ©) =T sgE

() fFas g @ fEaIFue

A fall in the prlce of X fromZ 12102 8 causes an increase in the quantlty of Y demanded
from 900 to 1100 units, X and Y are:

(a) Compliments (b) ° Normal goods (c) Substitutes (d) Inferior goods
X TAZ S A3 12 JuR 3 Wle & 8 JUB I 55 Y THZ € Har & ST 900 fexEdngt 3
oS 1100 feadff I AR I | X B Y T e

(@ Y& = (b) FAOGS AT (¢) YIHEUS (d). uwdnp TRzt
A horizontal supply curve indicates an elasticity of supply that equals |

(a) Zero (b) Infinity {c) One - @ -

7 Bz vlar ur waA @ J Ha & Hoa: _

(@ fA=g () nd3 ©© fe= @ -

Taxes which levied entirely on the‘ basis of the money value of the goods are:

(2) Specifictaxes (b) Advalorem taxes(c) Incometax  (d) Ei'cciserduty

.73 a3 fx yas 39 3 ong 2 efed f® @ nios 3 &2 A 75
(@) fefime s (b) MM () WHES T @ et fsgd
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49.

51.

52.

The administrative aspect of a tax are :

(a) Canons of taxation (b). Principles of taxation
(¢) Characteristics of taxation (d) Concepts of taxation
f¥a a9 o ydust Y 3§ |

(a) I THIT (b) FIUs e A3

(c) TIUS Tnft feREg=t (d) TS St gIsret
Expenditure tax was imposed in 1958 on the recommendations of :

(@) Adam Smith (b) H Dalton

(c¢) ProfKaldor . (d) ProfPigon

1958 &g ygg o9 fendt frefar 3 warfenr famr At

(a) "3H AfHE (b) n9. I

© Ye w3 @ Yefims

In both the Chamberlin and the Kinked Demand Curve models, the Oligopolists:
(a) Recognizes their interdependence (b) Do not collude

(c) Tend to keep prices constant (d) All of the above

(@) MU vizafsdaa fona3 e o8 (b)) TR FAN IS

(© a3t AfEE Juz Y 3t e 06 @ SR[a=AI

When the perfectly competitive firm and industry are both in long run equilibrium ?
(@ P=MR=SMC=LMC (b P=MR=SAC=LAC

(¢) P=MR=Lowestpointon LAC curve (d) All of the above

(a) P=MR=SMC=LMC (b)) P=MR=SAC=LAC

() P=MR=LACTII T f5@anifig (@) G<a=zm3

When o = 3/4 and B = 1/4 for the Cobb-Douglas production function, returns to scale are :

53.
{a) Constant (b) Increasing
() Decreasing (d) First increasing then decreasing
XH-3TOH 83UTE T%6 S AT a = 3/4 3 P = 1/4, Ind ¥ yfsew Is;
(a) wiEg _ - b)) <o
(c) ufee (@) ufost Toe feg U
54. The LAC curve is tangent to the lowest point on the SAC curve when LAC curve is falling
(a) Always (b) Never {(c) Sometimes (d) Cannot say
LAC &9 SAC a9 ‘3 fsBaz fig ‘3™ muan a9et 3 78 LAC e adt 3=t 3
(@) TIE (b) =R (c) T FS (d) foor st 7 FEEr
Paper-II (Commerce) ' 12 C
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57.

59.

Kinked demand curve is related with
(a) Monopoly (b) Discriminating menopoly
(¢} Oligopoly (d) Perfect Competition
fdas Yot Faw oz D : '
(a) U9 &8 , (b) I EXIAT &%
(c) niBuTaas 5% (d) UYIE HaE9S &%

: Who is the custodian of monetary reserves in India ?
(a) SBI (b) SIDBI (¢) NABARD (d) RBI
I93 o lefsa g o dfmadz D ¢ .
(a) SBI (b) SIDBI (¢) NABARD (d) RBI
Balance of invisible includes :
(a) Export of services (b) Import of services
(¢) Both (a) and (b) ~ (d) None of these
(a) A=t foaurs (b) AT T T3
(©) ¥ (a) "3 (b) (@ Gudas a5
Which of the following is not an instrument of monetary policy ?
(a) Deficit financing (b) Statutory liquidity ratio
(c) Cash Reserve Ratio . (d) Open market operaﬁon
Ist fefanit (&S foomr Fefsa At erie st D ¢ :
(@ ure & fez feemar - (b) RegeH T nigur3
(c) oA fowee nigurs () St ge fafanret
The Gold Standard exchange system prevailed in
(a) Between 1860 and 1910 . (b) Between 1910 and 1939
(c) Between 1880and 1940 (d) Between 1914 and 1939
s ASSES MaAOT Y=t yeos it | -
(a) 1860 n31910 fegarg (b) 1910 %1939 fegarg
() 1880131940 fegarg ' d) 1914 m31939 fegarg
Muitiple stratified random sampling is
(a) Probability sampling = (b) Selective sampling
(c) Non pmbability sampling (d) None of the above
WSS AeteEts I3 Rufdar |
(a) yafafesdt Aufdar . ) R3afe= RufSa
(c) d-yfafsd Fufda (@ Sudaz adt &t

13 | © Paper-II (Commerce)



61.

- 62.

63.

65.

If the sample size increases the sampling error o .

(a) Decreases (b} Increases
(¢) Remains constant - (d Noneoftheabove = .5
359 Bums nire Foer 3 3t s 39 "
(@) uedy | ) FTHI
(c) nfag IR Y | : @ Sus3ad st
F-test is used to test the significance of the difference between/ among
(a) Twosample mean (b) More than two sample mean
(c) Variable of two sample , (d) (b)and(c) .y
F-m@mmw&amménma%ﬂzmwaﬁywﬁ
(3) RS HOHS - @) - € 3 U Aus HoHs
(9 ERUSTI : @ OMWEQF
Which of the following are the charactenstlcs of a data
(a) Aggregate of fact (b) Numerical expresswn
- (c) Affected by varying cause (d) - All of the above .
(@) 3o T AISS . (b). A3z nifsforivar
(9 TEE AT yEes @ GWIBAY
Chi-square test is expressed as T o
@ ¥ S X @y = @fr
@ T ®) xo © vors (@ rorT
Co-efficient of correlatives will always be | _. _. o .
(a) Morethan0 _ ) More than -1
(¢) Lessthan-1 - (d) Between-1 and+1
@ 03 % b -1530 (¢ -13ule @ -1m3+1 feoa

Which of the following are not the limitations of statistics ?

(a) Homogeneous statistical data

(b) Analysis of data

(c) Presentation of means

(d) Statistics are true in the long run and on average

Jot fefanit & faodt wiftmelt & A &t 9 7

() PMPHAfmE@A3 (b) niafamit e fenz%nz

(c) WAST T YTIns - (d) meﬁamnﬁﬁﬁ

Paper-1I (Commerce) 14 ) C




67.

70.

.

72.

- {(8) Positive (b) Negative (c) | Zefo (d) None of the above
x?%ﬂ?%n@y?ﬂsmﬁ,?mﬁ%?mm’ -
(@) U b feFm () fiwes (@) Gusaz ast sf
Which average would be suitable to find the average size of readymade garments ?
(a)  Mean (b) Mode (c) Median - (d) Arithmetic mean
s Sufamdt T MRS WY 83 Bt Quuas wiRs ot St
(@) A3 () =gEA (c) Witmir (@) viaafEdt o
18 Paper-I1 (Commerce) =

Which of the following is/are the characterstics of Karl Pearson’s coefficient of co relation

(a) indication of degree (b) ' Indicators of the direction
() Satisfactorymeasure  (d) Alloftheabove

Jat 3t 29 faast aom Whens Afoide gt &t felmsr D

(a) feodt v Aas : | () ferreAas

(© ImEHy @) Sudaz A

T-testisa _

(a) Parametric test "~ (b) Non parametric test

(c) Largesampletest _ (d) None of the above

T2R2 3 _ -

(a) ¥ Uanftzfax 2me ®) &5 ds- donftefas 2re

(c) fems Aus 2Rz () Gusas agt adt

Data collected from the published books are called o
(@) Primarydata (b) Secondarydata (c) Tertiarydata (d) None ofthe above
(a). WS® viag ) F= a3 . (©) ToRFAwEs  (d) Sudas Fet At

Data integrity refers to the

(a) Simplicity of data (b) Privacy of data

(¢) Validityofdata - (d) Security of data

wigimit & mdssr 3 3 Y | -

(@) vigfanit & FawTr (b) it & g
(c) niafamit & duar | (d) wizfamit & gt

As the value of x increases and the value of y decreases,.then the coefficient of correlation
will be : '

A
I



7.

4.

75.

76.

78.

Which average would be suitable when quantities of variable are in ratios:

Ll M

(a) Mean (b) Mode ~ (c) Median (d) None of these
& @ g9t O Hr3T nigur3 G gt 3 3t fxadt ing Quges et .
(@) HoHs - (b) TIHI Y (¢) Hftder (@) feost &8 &gt &t
Median can be calculated from
(a) Individual series ~ (b) Discrete series
(¢) Continuous series -~ (d) All of the above
Mfomiar & g it A At 9
(a) foriarfios &=t 3 () dfszsHIT
() fsdza=t3 | @ Susazs A
From which formula mode can be calculated
(a) 2 median -3 mean . (b) 3 median—2 mean
(¢) 3 median - 2 median (d) 2mean-— 2 median
ugEa O dEw fom gy o oSt AT At 3 |
(@) 2 Hftmiar -3 HOH'S () 3 Hfar -2 HoHs
() 2 Mftpiar- 3 ftmir (@) 2 Wms -20ifmiEr
Semi interquartile range is also known as :
() Mean deviation (b) Standard deviation -
(c¢) Quartile deviation - (d) Quartile range
Mt vizgezana ferarg § feg & faor aier 3 |

 (a) Wufeoss ) i fEns

' (¢) UITER feuws (d) v39ux ferara
Which of the following is the characteristic of index number ?
(a) Expressed in percentage (b) Comparative measurement
(¢) Measure of changes ' (d) . All of the above
Yot it 2 fargsht o viat &t et 3
(@ yIins f¥u vamdt At T (b) IEEEIH HU
(c) == T HY . (@) GuIEZ AT
The synonymous of consumer price index is : o
- (a) Weighted index (b) Welfare index

(c) Cost of living index - (d) None of the above
BuSarsT -3 HO Wit B AHGTaE 3 |
(a) a3 Foa nix _ () oz goa nix
(0 s I3 Fod v | @) GuFEs a5t
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79.

80.

81.

82.

83.

If the two regression co efﬁclent are 0.8 and 0.2 , then the value of coefficient of porrela’ﬁon is:

(@ +0.16 ®) -040 © -0.16 (@ +0.40
ﬁaﬁéqﬂmﬁaaan?ao;sﬁo.zaa,ea#énhﬁéu%mefm%:
(8 +0.16 () -0.40 (© - 016 @ +0.40

Whlch of the followmg is not a measure of dispersion ? -

(a) Skewness () Mean deviation
(c) Standard devihtioh . (d) Quartile deviation
Yot fif 5 forom YA & Y T T 7 |
() fSRuEETHU ) o feoss
© wrufese o @ vgoEa fesee
Which average is better for the construction of index numbers out of the following
(a) Anthmetlc mean _ ‘ (b) Geometric mean
(¢) Median o (d) Both (a) and (c)

| mwammwmﬁqmmma ?

@ i afsdt s , ) W afeSt Hars

() Wit @ ()32 (c) &
Which price index formula is considered ideal among the following
(a) Paasche’s price index | (b) Dorbish-bowley price index

. (c) Fisher’s price index (d) None of the above l

aw&mﬁ%maﬂwﬁmmmmmw% i
(a) ufn%eraawﬁgsama ®) Fafan-aGs o i3 HIR Wid

© faaaermgaan'ia @) Sud=ad &t
Which of the following is the relative measure of the skewness ?
(a) Mean—median . (b) Mean-mode
(© Q3+Ql1-2 MD (d) Mean—mode/S.D.
St it 25 foraar fooRue @ Al WU D 1
(@ o A (b) HoHG -GS
(¢ Q3+Qi-2MD (d) ﬁmm g5/ SD.
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o

PSE’s are organizations owned by :
(@ Joint Hindu Family o (b) Government
~ (c) Foreign Company ~ (d) Private Entrepreneur

PSE Fra<! 9% # niftarfas Jehr o5 -

(a) Agas g ufses enrar - (b) AT O

© feRnt shat g @) R g e

86. The minimum number of mcmbers required for registration of a co-operatnve society are:

(@ Two (b) Seven (¢) Ten - (d) Twenty
mﬁmﬁaéwmmn@mammma

@ 2 ® #3 © @ @

87. A public limited company can start business after
' (a) Incorporation

(b) After promotion

(c) After registration :

(d) After certificate of commencement of business

fea vafs fmitfes dust zem gy aw Aot &

(a FArmEws Fame ®) It Fame 7 : 5 |
© WRgEs 3 o (d) mnham'%wﬂsa?m
Which of the following types of business organizations has a ‘separate legal entity’ ?

(a) Joint Hindu Family Business (b) Partnership L

(c) Joint Stock Company (d Noneof the Above :
‘w%@wﬁvﬁaﬁmémmﬁm@amm&e%

() Fues g ufgeq surg ®) TJHF
(¢) T8z Ao Sudt | @ Gudazs ast &t
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84.

88.

Which of the following does not characterize busmess activity ?

(@) Production of goods and services

(b) Presence of risk

(¢} Sale and exchange of goods and services

(d) Salary or wages

wﬁﬁmﬁaﬁwmmwﬁﬁ!ﬁwm'fe‘n@ ? .
(8) T w3 At v G3ues @) dfmdde
(c) =A3nf w3 RevEt O g mR T (d) Bawaﬂfun?cfr




89.

90.

91.

Registration is not essentlalm case of

(a) Company _ (b) Co-operatlve orgamzatlon

(c) Co-operative society ©_ (d) Business of Hindu Undivided Famﬁy

(a) JustemE - (b) ﬂﬁaﬂa‘fﬂﬂwaﬂ “

(@ e Al w @ wes3 fig ufsee @ e

In a private oomba_ny, there are restrictions regarding: : |

(a) Transfer of shares (b) Issue of prospectus

(c) Number of members (@ All of the above.

(a) Pnig T OmSEeE ) yRleRAdEE

© Nesrordfer @ @uﬁaan% -

The maximum number of members of a Private company under The Comjianies Act 2013,
. hasbeenchangedﬁomSOto | ' |
@) 15 ®) 100 © 125 @ 200

s?u?ﬁmaazzowmﬁl?gﬁﬁta‘xmamﬁawﬁmsogmaama% |

(@ 75 " - (b) 100 . () 125 (d) 200

92.

93.

94.

A co-Operatlve socnety is reqmred to be regtstered under the Co—opgratin_a!Socitics Act

(a) 1932 ®) 1952 | (c) 1956 - (D 1912
feanhafé’rﬁr'rrfeétﬁﬁ-wq&eﬁwfezhaaz mﬁlﬁaﬁaﬂzaﬁié}ﬁ?%
(a) 1932 ® 1952 © 1956 2 ‘(d)‘ 1912

Which of the following cannot be clasmﬁed as objectives of business ? ? :
(a) Investment - ) Productivity () Profit-earning (d) Innovation

=-'aaﬁ%wﬁ%ﬁn?mﬁaaawa%@%neaa‘%ﬂmwmﬁ?

@ W o) G @ smIET O rufeesss

Which of these is not included as a separate item in the basic accounting equation ? -

(a) Assets B (b) Revenues
(©) Liabilites = * (d) - Stock-holders’ equity
mwmﬁamﬁgmamméﬁ ‘%nrﬁmm'l'aﬁ?ﬁ@ ?
@ mEh (b) PHES '
(c) TIargmit () FIR-THIT < feafedt
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The accrual basis of accounting records revenues when they are;

9s.
(a) Collected (b) Eamed
(c) Contracted - (d) Readily available for use
By & T T o a3 nnves foares s@er 3 A9 B9
(a) fEadhr dtdnt idhr o (b) IHEt FREnf T
(c) FIfaz didor gttt a5 ‘ (d) T3 & Qumsy Jon o
96.  The unfavourable balance of P & L account should be:
' (a) Added in Liabilities (b) Subtracted from Current Assets
(¢) Subtracted from Capital (d) Subtracted from Liabilities
P i3 L 34 ® yfsys fges d ardter 3 - |
(@) Eedmit g A ®) TB ot R werlsr
(© U RT werla @ &ResAY
97. Which type of Expenses are paid out of gross Profit ?
| (@) General expenses ' (b) Financed Expenses
(¢} Selling expenses (d) Al of the above
3% &% 39 o Y39 & wafontt o gai3s i e 3 ¢
(@) FUTs YT ) fEtued
(¢) feastumd (@ Sudas Ay
98.  Sale of goods to Taman is wrongly debited to Daman’s account, Both are debtors of
business. This is an example of: _
(a)  Error of Omission - | (b)  Error of Commission
(¢)  Error of Principle _ (d) Error of Original Entry
%ﬁmﬁ&aﬁ'aaérmm%u@ﬁeﬁ%ﬂﬁal €8 It Tue ¥ dEee
75 | oo f¥a.Qoaaz 3 -
() niEfoost & 39t & (b) s & 3¢t &
(c) fruiz & sgd & (d) A ffeow & 39t &
99. The process of allocatiﬁg the cost of an intangible asset over its useful life is called:
(8) Depletion (b) Impaiment  (c) Depreciaion (d) Amortization
%am?ﬁaﬁuﬁ%@uﬁaﬂﬁeaﬁmmméqﬁmam@ﬁ%
@ wihawm o) Rawm ) wwwe @) T IR S
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100. Which of the following item will not appear in the cash-flow from operating activities

101.

102.

section when using director method ?

(a) Payment of Suppliers (b) Payment of Employees

(¢) NetIncome (d) Collection from Customers

ggwmmmmmmﬁaaﬂw&mm
- g ?

(a) YIS T FASE (b) TIHIG T IS
(c) BHUnHES (d T IS
What does EBITDA mean ?

(8) Eamings Before Income-Tax, Depleﬁon & Amortization
(b) Eamings Between Income-Tax, Depreciation & Amortization
(c) Eamnings Before Income-Tax, Depreciation & Amortization

(d) Earnings Before Interest, Taxes, Depreciation & Amortization

EBITDA & ot »@@ 9
(@) Eamings Before Income-Tax, Depletioh & Amortization

(b) Eamings Between Income-Tax, Depreciation & Amortization

(c) Eamings Before Income-Tax, Depreciation & Amortization
(d) Eamings Before Interest, Taxes, Depreciation & Amortization

How is Working- Capital calculated ?

(a) WC = Sharcholders” Equity & long-term debts — Fixed Assets
(b) WC = Fixed Assets — Current Assets

(c)  WC = Shareholders® Equity and Long-term debts + Fixed Assets

a (d) WC = Fixed Assets + Current Assets

103.

aﬁggﬁﬁmﬁ%ﬁﬁa'?

(a) wc:mawmmm-mw
(b) WC = Afg it - 9% RuSht

© wc;ﬁnﬁﬁssaﬁ%afeéfn@aﬂaumm+nraaﬁuw
(d) WC = Afs ot + 9% AUt

How is interest-coverage ratio calculated ?

(a) Operating Income (before interest & income-tax)/ Interest expense
(b) Net Income/ Interest expense

(c) Sharcholders’ Equity/ Interest expense

(d) Long term Debts/ Interest expense

Interest-coverage Wau3 T IEH foR st A Y 1

(a) o niniEs (fenit w3 winHes &9 3 ufasn/feni™ ¥Je

(b) HT niHEs/forH ¥I9 .

() Fmiddsss € feafedt e uae

L@ Sow g foe/fers uae
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104. An Opportunity Cost is : = o
(a) The difference between the total-cost of one altematlve and total-cost of another
alternative, o

(b) The benefit foregone when one alternative is selected rather than another
(¢) A cost that is saved by not adopting a given alternative. ‘
(d) A cost that continues to be incurred even if there is no activity.
WeHI &3 J |
(a) ﬁaﬁa&uég&mm@gﬁﬁmﬁwmmm. ¥
- (b)  Tnrrlamr famir e w ¥ fesou § e feam ¥ Hatg @ gfenr e )
() I frast fa 93 a2 feamu & & nhisr & Sovet widt 3 ‘
() FIS o 3 I faforr & Jx 3 & fsdzo @S Y

105. Using Marginal-costing method, ‘contribution’ is equal to sales revenue less:

(a) Direct Labour Costs (b) Total costs

(c) Variable Costs : (d) - Fixed Costs ..
FIHtS &ars fedter ytiar a2 32, “tomes’garwg 3, feadt nines uzG
@) Y3 HAgdt st ) IS Bt

(c) ufo<asaris szt (d) Rfgg Fa=ET

106. Shareholders’ wealth in a firm is represented by
(@) Number of people employed in a firm.
(b) Book-value of a firm’s assets less the book-value of i its llabllmes
(c) The amount of salary paid to its employees.
(d} The market price per share of common stock.

feat 39H e Aniourew & Audt yeafis 3 D -

(a) <o 19 B3 Jat &t o=zt ewrgr

(b) mﬁm@w%ﬁaﬁmﬁ%mm%ﬁa@mawa
(c) mm@ﬁwaﬁﬁaﬁméwm

(d) wm%a@a%émﬁmm_

107. The long-term objective of financial management is to

(a) Maximize eaming per share (b) Maximize value of firm’s common stock

(c) Maximize ROI (d) Maximize market-share

&5t yius & dow awis @3 3 - - |

() Y=t Anig e & wiftesy aeer (b) =L AUTS RS © S mfGaSH ST

(¢©) ROI g mifGe=H g . (d) feme sr9-faR & wifte=y agar
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108. Which of the folldwing would be included in the Cash Budget ?

109.

110.

(a) Depreciation charges ' (b) Dividends

(c) Goodwill . : B () Patent amortization

It fafant R4S fror & awe g Afie 3R 1

(@) Howews® | ) FEA

(¢ Ad | (@) IR wifaare U9

EOQ is the order quantity that ______ over one planning period.

(a) Minimizes total ordering costs (b) Minimizes total carrying costs

() Minimizes total inventory costs (d) . Minimizes the required safety stock

EOQ & 3 wge" I # fea Greas 295
@ o5 o § e asdty O o St mast § s avdt
© o5 ong pot oot & e TR Y (@) 3o St wrarst § fs@aaH a9t 9

The term *Capital - Structure’ refers to :

'(a) Long-term debt, preferred stock and common stock equity

~ (b) Current assets and Liabilities

(c) Total Assets — Liabilitics
(d) Shareholders’ equity

. E% *Capital Structure’ FIIS Y

111

(a) érmﬁmﬁzummm%wmfea&'ﬁ |
b) T Pt w3 Fzerdmt |
©) o Fdnit w3 et

(@) P oer & feated

The dividend payout ratio is equal to :

(@) The dividend yield plus the capital gains yield. -
(b) Dividends per share divided by earning per share.
(c) Dividends per share divided by par-value per share.

(d)  Dividends per share divided by Current-Price per share.
SR SIS WEU'S BIEG I

(@) woin A gt 57

() Yyt e THE DA I Yt B wrenin

(©) qs}ﬁnﬁwagswmqs’rﬁwmm

0:)) qﬁﬁwwé\mwmqﬁﬁwm
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112. The capital of a non-profit organization is generally known as

.
1

(@ Equity (b) Accumulated Funds
(¢} Cash Fund (d) Financial Reserve

I3 AREr & Ut vmidT 3 Fo@ 3 | |
(a) feafedt (b) Afes 3
() 3WTw @ feStdsg

113. Which one of the following is a method of Goodwill Evaluation ? .
(a) Average Capital Method (b) Super- Capital Method
(c) Capital- Intensity Method (d) Super- Profit Method
ot fefni 5 foraet Fmy ot <t o ety 7
(@) S U fecdt (®) BuS-y+t feddt

'''' © Yhymssfedt - @ me-ay fedt

114. Garner Vs Murray rule applies in case of :
(a) Adessmn of a partner : (b) Retirement of a partner
{c) Death ofa partner (d) Dissolution of a firm
GameerMmrayﬁﬂHf*Eﬂﬂfﬂﬁ%BE@ﬁéTa: |
(a) FERBEEww I () IEH T AT YIS IT 3
() IR TS @ THofumsdzs

115. BPO Stands for :

| (a) Business Process Outsourcing (b) Business Process Output
(c) Business Privileges Outsourcing (d) Business Privileges Output
BPOIFwd

(a) Business Process Outsourcing (b) Business Process Output
(c)  Business Privileges Outsourcing (d) Business Privileges Output

116. The industries which provide support service to other industries are known as:

(a) Primary industries ~ (b) Secondary industries
(¢) Commercial industries. (d) Tertiary industries
@emaﬁa%m@manw@aﬁ?maa%m FET um
(@) ¥ Get - () Jiz Gedhr
© e Getr d) zamd Qetiar
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117. Which of the followmg is a definition of Multinational Enterpnse ?

118.

(a) A company headquartered in one country, but, havmg operatlone in other countnes
(b) A company operating m_emergmg economies.
(¢) A company employing foreign nationals.

~ (d) None of the above

Jat ffamit 14T faodt sg-oredt Qon & ufssmr 3 2
(@) e i R ey Ra dm e Jer YW AW R R T
(b) eeeélnrmaeﬁem@ﬁeanaeﬁau#
(©) feorlt safaat § &M 3 Jueh chudt
@) Budss agt adt

An outsourcer : : -

(a) Isalwayslocatedina foreign country.

(b) Generates its revenue by producing for another company.
() Provides recycling capabilities to the organization.

(d) Only produces standardized parts.

(@) ohE Toes o e der
(b) mmwmmmmme

- (©) wgmmmm%

119.

120.

(d) firae fimrdt gt e fsanTE ager 3

Expanded form of IRDA is :

(a) Insurance Regulatory and Development Authority
(b) Insurance Reforms Development Authority

(c) Insurance Restructure Development Act-.

(d) Indian Re-insurance Development Authonty .
IRDA & ferfz3 qu J:

(a) Insurance Regulatory and Development Authonty
(b) Insurance Reforms Development Authority

(c) Insurance Restructyre De\}elopment Act

(d) Indian Re-insurance Development Authority

Which of the following Pubhc Sector companies provides insurance cover to exporters ?

(@ ECGC (b)  NABARD - (¢) SIDBI (d IRDA
Wﬁ@rﬁeﬁaﬂmaﬁmmgzﬂwaﬁmaﬂﬁ% ?
(@) ECGC (b) NABARD © SIDBI (d IRDA
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121. Reconstruction of a sick public sector unit is taken up by 7
(2) MOFA () MOU () BIFR (d) NRP
HHT Raead U39 feardit ar ysg-fsane itz fapor B
(1) MOFAEMT (b)) MOUPNT () BIFREWT  (d) NRPoHT

122. Disinvestment of PSEs implies :
(a)  Sale of equity shares to private sector/ public
(b) Closing down '
(¢) Investing in new areas
(d) Buying shares. |

PSEs 2 fefsem T e D ;

(@) ﬁaﬁ'ﬁmémas’amzjﬁaér
(b) de I

() &< U39 o fsdmaaar

(d) P dtesr

123. IFRS stands for :
- (2) Indian Financial Reporting Standards
() Indian Financial Reporting System
(¢} International Financial Reporting Standards
(d) International Financial Reporting System
IFRS 33 3 |
(8) Indian Financial Reporting Standards
(b) Indian Financial Reporting System
- {c) Intemational Financial Reporting Standards
(d) Intemational Financial Reporting System
124. What is mortgage ?
(a) A security created on immovable property for a deposit received by the bank.
(b) A security created on immovable property for a loan given by the bank;
() A security created on movable property for a deposit received by the bank.
(d) A security created on movable property for a loan given by the bank.
foE Rz st Y 9 . o
@ ¥ oo Yz Umat BEt e At <3 Do 39 st
(b) ¥ owrer (I3 e o Es ot s et 2 e
© ¥ DI Y3 VAt &2 om Hust 3 st |
@) &Py RS W TS 35 o8 vn At 3 et
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125. Milton Friedman said that there is only one social responsibility’ for a company to use its
resources for '

(a) Qwe as much to chantable causes as possible

(b) Ensure Employment

(¢) - increase profits as long as it remains w1thln the rules of the game
(@ Provide good facilities for the workers

ﬁmmﬁmﬁhﬁamwwm?wmm@aw
et 3

(a) ©& T st fifgy As< I A B

(b) IR TRET HTRE

(© & I feg B8 2 fenr nidls IfdEt 3, &9 Tug2
() ST BET TAMT AYEST YT's T35

126. Management of social responsibilities includes all of the following except

(a) Economic (b) Caretaker (¢) Legal (d) Ethical
mmﬁw%mﬁaww&?ﬁﬂaﬁawﬁwﬁmﬁéaﬁ
(@) »IER ®) fsa@s () TFA @ 3=

127. Mechanism to protect private networks from an external cyber-attack is
(a) Firewall (b) Digital sngnature (c) Anti-wrus _ (d) Formatting
£t Bedaat § arodt ArdtEe Hfnlt 3 E9EE T W39
(a) TS M) f5vtes gAse (c) A efean () TERfEd

128. Which type of advertisement appears on a web-page ?

(a) Pop-upad (b) Pop-underad (c) Banner-ad (d) Discount ad

2y I 3 farr yaa o ferf3od S der 3

@ UU-nIRE () UU-WEIAE () Yoa M3 @) fsAage s
129. The Environment (Protection) Act was enacted in the year _

@ 1986 . - () 1992 (© 1984 @ 1974

erzrean (Fefunm) Aae fer A un dfenr A | | |

@ 198 @ 192 . (@ 1984 @ 1974
130. World Environment Day is celebrated on: _

(a) Decemberl  (b) JuneS (© Novembers  (d) August10

@ 1fE () 5T 2 (© 5% 3 @ 10 naA3 3
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131.

132.

133.

134.

135.

What is the purpose of a ‘balanced score — card’ ? . o
(@)° To combine a range of qualitative and quantitative indicators of performance;
(b) To relate business performance to customer satisfaction, E

(¢) To measure contribution of people to business growth.

(d) To relate business performance to financial measures.

fea i3s3 Aeg-ags oot ized 1

(a) Yeoms T felds gErana n3 TeasHa goat o Hr sear

() =UT T yEoEs § QusasT AgEd & e

() =u9 e fear 9 Sar & G o vy agaT

(d) U3 < yedrs & {3 Mrfant 575 dga

What is COPRA ? _
(@ Consumer Operating Protection Regulation Authority.
(b) Consumer Protection Act.
(c) Consumer Protection Authority.
(d)  All of the above
COPRA &t T 7
(2) Consumer Operating Protection Regulation Authority.
(b) Consumer Protection Act.
(¢} Consumer Protection Authority -
() Gudas A
Marine Insurance may cover loss or damage to the
(a) Ship (b) Cargo
(¢} Any other subject of marine adventure (d) All of these
Rfts dhr, Tt v 5ams & aeg e Y
@ w3 ®) TR NG E
(© mfetufdvefRdfend (@) Buda3 A
Which of the following is sequential model used to explain how advertising works ?
(a) ADD (b) AIDA _ {(c) PESTLE (d) SwWOT

off3T 7AE =y IoFtady wsw D 9 | - |

(a) ADD (b) AIDA - (c} PESTLE (d) SwWOT

What is the monetary limit to file a complaint for compengation before the National
Commission under Consumer Protection Act, 1986 ' _

(@) Upto25lakh  (b) Upto 50 lakh (© Upto75lakh  (d) Morethan 1 crore
usaz Hsfimr Raz, 1986 ® witits IHedt nitia 3% JeTs Bt R feafes oon
FITEE Hfgx A st D , '

(@) 253y (b) 50 3y Iz NORAL e (@) femadzIFey
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136. A person aggrieved by an order made by National Commission can appeal against such

order to the:

(a) District court (b) High court

(¢) Supreme court '7 (d) None of the above

FHES v ey R TR gaH enirar Wiz feniEt wifed gau fedu farg mrils a9

AT J | .

(@ frg v b §ewEws

() FIEe nEw3 | @ Budss 3t &t
137. Which of the following is relevant with respect to commercial bank ?

(a) Non- performing assets (b) Debit card

(c) Home loans (d Allof theéc

Jot ifanit fed* foom aurgal ¥ &% AU 3 7 '

(@) d-userShifar mime (b) 3Bfaeas

© w85 | @) R

138. Trial balance is prepared to check:
(a) Equality of all assets and liabilities (b) Arithmetic accuracy of accounting
(c) Valuation of closing account ~ (d) All types of errors
oifen 3BT ferdt Ao a¥s &2t sfenr Aier J '
() Fatnt Fuding ni3 STt EF AIHEST (b) syt € afefsa R

() THMa ur3 T HBaE () a%aqwaélmggﬂw
139. Some assets easily convertible into cash are called

(8) Liquid Assets (b) Current assets

(¢) Fixed assets .(d) Floating assets

5 Audhnit niAdt &% an 29 ufeafss Jehr 96, aargen 05 ¢

(a) ufez AUt - (b) TT RuFot

(c) Afag Audhl | (@) I Audnit
140. The reward a businessman gets for bearing the risks is called: -

(8) Remuneration (b) Commission (c) Bonus (d) Profit

mﬁwﬁﬁammmmmmﬁmt

(a) Tz (b) aﬁma | (c) E&H d) 3
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141,

142,

143.

144.

145.

(a) Primary sector - () Secondary sector _ ‘..-.,'m )
(©) Tertiary sector (@ Nomeofthese

. foorE Gt AR Y - o o -
(@ YIS UIIHB | b) =T EITTS
(¢) ZIRdtEsIaEs ( d) feost feg aot &t
In a co-operative society, the principle followed is: ‘ IR
(a) One share one vote , (b) One person one vqt_é_, -
(c) Muitiple votes o (d No vote |
fewr Afoardt At 9 fom s & uwse gt Aty
(a) ¥ i fom 22 3 (®) %afemaér%a
() ==t (@ o T st
Steel Authority of India limited has which form of organisation. .
(a) Statutory Corporation - (b) Departmental undertakmg ..
(¢) Govemnment Company (d) Multinational Corporatlon . | .
331 AdtS nEadt fanfes fam yarg & drer 3 :
(8) FAfeusx IREE (b) fe@alam?;r P
() FIG quS ' (d) HIIHES TIRES
Which of the following is not part of General Insurance ?
(a) Marine Insurance (b) _Fidelity Insurance
(c) Fire Insurance - (@ Life Insurance '

- Jot fefoor fei fafaer Aogs S o R &t 3 ? o

(@) miedtdr | | ) feEsdn
() wigwet s (@ e g
Which of the followmg is not covered under the contract of mdemmty ?
(@) Life Insurance . (b) Fire Insurance - N
(¢) Marine Insurance i (d) All of the above
ﬁﬁ'%&wﬁahwmwuaﬁéaz%azﬁamaﬁw%
(a) s g () it dhr
© mieddhr (@ SuIEs AW

Construction industry belongs to

Papqr—ll (Co_che) 30




146.

147.

148.

149,

lwl

Which of the following alone can ensure effective ethics programme in a busmess enterprise 7

(8 Replication of code ' (b) Involvement of employees

(¢) Establishment of compliance (d) None of these o :
| m%ﬁaﬁamﬁ?mmﬁrm%@amamwm%
@ FTASS ' (b) SIS & Frafterdt

© mma'rmw | @ feust R adt st

Legal cost incurred in case of disputed land and building is classified as:

(a) Operatmg uct:v:ty L (b) Investing activity

(c) Financing activity (d) Allofthe above

sa3 Tt mits w3 fasfSa @ Adu f¥0 St Tgat HOs § wriew A J

(8 e aefedt | ®) foema aefedt

© fehafed | @ uias AI

Average cost method of i inventory valuation is suitable when there are

(a) Fall in prices (b) Risein prices

(c) Fluctuation in prices - (d) None of the above
| mnﬁﬂamﬁﬁﬂamﬁtﬂg@ﬁﬁ@%ﬁ

(a) i3t uledintt 75 . (b)) St ot I8

(©) Mﬁa@sﬁ—mw% @ feost f&9 agt adt

A very important oomponent of management accounting is

() Financial Accounting (b) Contract Accounting

(¢) Cost Aocounting (d) None of these

yius Swardt & i 593 Hoseyds vial J

(a) feSt Suardt | (b) dAcIsE B

© m%wa'a"f_ - | @ feost R aRadt

Stock is |

(a) Included in the category of fixed assets (b) Part of current assets

() Intangible . : (d) Tangible

AR 3 '

® nfaamwaafrfeamw Y @) o Audnt o R ger 3

(c) mSfsx | @ Sz
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